www.HaryanaJobs.in

GOVT, OF NCT OF DELHI
Delhi Subordinate Services Selection Board
FC-18, Institutional Area, Karkardooma, Delhi - 110092,

Tt et e e ¢ www.dsssb.delhigovt.nic.in
Participant ID .
"Participant Name HaryanaJObS' In
Test Center Name lon Digital Zone IDZ1 Mundka
Test Date 30/06/2021
Test Time 2:00 PM - 5:00 PM
Subject PGT- English (Female)

Q1 In the given question, figures A and B are the starting and ending pattern of a series. Out of
the four figures, named 1 to 4, one of the figures does not fit in the series. Find the number
of the odd figure.

O x O X ] x

X b4
A 1 2 3 4 B
Ans X 14
oo
< 31
X 4.3

Question ID : 59445933040

Q.2 Shivais 8 years elder than Kriti. The ratio of their ages is 5:3. What is Shiva's age?
Ans x 1.18 years

x 2.28 years

X 3.32 years

Q_f 4.20 years

Question ID : 59445933035
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Q.3 In the following question, select the figure which satisfies the same conditions of
placements of the dot as in the question figure.

AN

%

Ans
: 5\

7

T

L

7

v P

Question ID : 59445933042

Q.4 Find the missing term in the following letter series:

AEF, __, ENJ, GKL
Ans  of 1CGH

75 2.CHI
/X 3.BFG
/X 4.DGH

Question ID : 59445933023
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Q.5 Three different positions of the same dice are given below. How many dots will be on the
face opposite to the face bearing 3 dots?

Ans X 12
5 2.1
oo
F N

Question ID : 59445933041

Q.6 Out of the given options, three are similar in a certain manner. However, one option is NOT
like the other three. Select the option which is different from the rest.

Ans X 1 ONM
o 2.GED
< 3. TSR
75 4.JH

Question ID : 59445933025

Q.7 Select the option that is related to the third term on the same basis as the second term is
related to the first term.

14:49:196:?
Ans X 1742

< 2.1290

o 3 9604
< 4.685

Question ID : 59445933036

Q.8 In a certain code language, if MIRROR is coded as 85, how will ALMIRA be coded as?

Ans X 1.45
75 2.51
W 348
25 4.50

Question ID : 59445933029




www.HaryanaJobs.in

Q.9 In this question, two statements have been given followed by two conclusions numbered |
and Il. Assuming that all information in the statement is true, analyse the two conclusions
together and determine whether any of them logically and definitely follow(s) from the
information given in the statement.

Statement: All bats are balls. All balls are wickets.

Conclusions:
|. Some bats are not wickets.
Il. Some wickets are bats.

Ans X 1. Neither | nor Il follows
of 2 Only i follows
< 3.Bothland Il follows

< 4. 0nly I follows

Question ID : 59445933033

Q.10 Amit, Binod, Chandu and Dixit are sitting on four consecutive seats in a theatre. But
Chandu and Dixit are not sitting together and Binod is not sitting in the third place. If Amit
and Binod are sitting together, then which of the following must be necessarily true?

Ans X' 1 Dixitis not at the first place
\f 2. Amit is at the third place
x 3. Dixit is at the first place

X 4. Chandu is at the first place

Question ID : 59445933031

Q11 In this question, a statement has been given followed by three course of action numbered I,
Il and Ill. Assuming that all information in the statement is true, analyse the three actions
together and determine whether any of them logically and definitely follow(s) from the
information given in the statement.

Statement: A lot of people have died recently due to the lack of oxygen cylinders amidst
the second wave of the deadly virus.

Courses of Action:

1) The Government should immediately set up more factories to produce oxygen cylinders.
Il) The central government should ask the help of the neighbouring countries to provide
oxygen cylinders as soon as possible.

lll) The government should ban the media reporters to show the actual number of deaths
happening as it will create a panic situation in the country.

Ans  off 1.0nlyland Il follow
X 2. Neither of them follows
< 3.0nly lll follows
< 4.0nly Il and lll follow

Question ID : 59445933034
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Q.12 Which of the following Venn diagrams best represents the relationship between mothers,
sisters and widows?

Ans

p S

~ 2

v &)

r

QEBRE
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Q13 Which of the following Venn diagrams best represents the relationship between murderers,
criminals and thieves?

Ans

o

K2

HEOR

Question ID : 59445933038

Q14 Out of the given options, three are similar in a certain manner. However, one option is NOT
like the other three. Select the option which is different from the rest.

Ans X 1 DAFFAD
75 2. XAZ:ZAX
75 3.5AUUAS

o 4 KANNAK

Question ID : 59445933026

Q15 If HUMILIATION is coded as MLRGZRORNFS, HANDSOME is coded as VNLHWMZS, then
how will INTRODUCTION be coded as?

Ans X' 1 MLRGXWFLGIMR
5 2. MLRGFXWLGIMR
75 3. MLRGXFWLIMRG

J 4. MLRGXFWLIGMR

Question ID : 59445933030
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Q16 Arrange the given words in the sequence in which they occur in the dictionary.

1. Legal

2. Legible

3. Legitimate
4. Legendary
5. Legend

Ans X 115243

/X 212453
of 315423

/X 4.32451

Question ID : 59445933024

Q17 Select the pair that is related on the same basis to the pair given in the question.

Boutique : Clothes :: ?

Ans x 1. Restaurant : Medicines
75 2.Salon : Fruits
x 3. Pharmacy : Fuel

J 4. Optical store : Glasses
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Q18 Which of the following answer figure will continue the same series as established by the

Ans

five question figures?

1 2 IA

OI:I

O

&_J

x|
"N
o] ¢
Z I

Question ID : 59445933039

Q19 In aclass of 60 students, Arti's rank was 35th from the top, and Bandana's rank was 39th
from the bottom. So how many students were between Arti and Bandana?

Ans

<1
K< 213
o s 12
< 414

Question ID : 59445933032
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Q.20 Select the option that is related to the third term on the same basis as the second term is
related to the first term.

Sleep : Insomniac :: Die : ?

Ans X 1. Atheist

“ 2. Immortal

#< 3. Philophobic

x 4. Misogamist

Question ID : 59445933028

Section : General Awareness

Q1 Which among the following is the deepest lake in the world?

Ans x 1. Victoria

W 2 Baikal
x 3. Titicaca

x 4. Caspian

Question ID : 59445933049

Q.2 Which among the following articles prohibits discrimination on the basis of religion, race,
sex, or place of birth?

Ans x 1.12
X 214
X 313
of 415

Question ID : 59445933060

Q.3 India has been ranked in the Chandler Good Government Index (CGGI) 2021 among
104 countries in terms of government capabilities and outcomes.

Ans X' 155th

o 2 40th
X 3.32nd
75 4.78th

Question ID : 59445933057
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Q.4 The Treaty of Purandar, 1665 was signed between and Shivaji.
Ans X' 1 BajiRao

#5 2.Nader Shah
X 3. Dara Shikoh

of 4 JaiSingh!

Question ID : 59445933052

Q.5 Which among the following statements is incorrect?

Ans x 1. Crops sown in the winter season (October to December) and harvested in the spring
season (April-May) are called Rabi crops.

J 2. Maize is a Rabi crop.
x 3. Cucumber is a Zaid crop.

X 4. A cash crop is cultivated to be sold in the market to earn profits from the sale.

Question ID : 59445933050

Q.6 In , Humayun succeeded Babur to the throne of Delhi as ruler of the Mughal
territories in the Indian subcontinent.

Ans X 11525

o 21530
/X 31535
/X 4.1540

Question ID : 59445933051

Q7 In type of taxation system, each income slab is taxed at a uniform or flat rate.

Ans x 1. Progressive taxes
X 2. Degressive taxes
x 3. Regressive taxes

J 4. Proportional taxes

Question ID : 59445933046

Q.8 Cucumaria and Asterias belongs to which of the following Phyla?

Ans « 1. Echinodermata
X 2. Mollusca
x 3. Arthropoda
X 4. Annelida

[ Question ID : 59445933048
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Q.9 Which of the following monuments in India is considered to be inspired by the Arc de
Triomphe in Paris?

Ans X 1.TajMahal
« 2. India Gate
x 3. Charminar

X 4. Victoria Memorial

Question ID : 59445933044

Q10 In the Union Budget 2021, finance minister Nirmala Sitharaman announced that senior
citizens , who only have pension and interest as a source of income will be
exempted from filing the income tax returns.

Ans J 1. above the age of 75 years
x 2. above the age of 65 years
x 3. above the age of 70 years

x 4. above the age of 60 years

Question ID : 59445933045

Q11 Who among the following has been appointed as Director of Indian Institute of Rice
Research (IIRR) in May 2021?

Ans X' 1 Ajay Tyagi
x 2. Anup Anvikar
x 3. Mandeep K. Bhandari

J 4. Raman Meenakshi Sundaram

Question ID : 59445933055

Q.12 Who among the following launched the Startup India Seed Fund Scheme on April 19th
2021?

Ans « 1. Piyush Goyall
#< 2. Amit Shah
#< 3.Prahlad Singh Patel

#5 4.Nitin Gadkari

Question ID : 59445933056

Q13 Who among the following became the World Snooker Champion in May 2021?
Ans X 1. Kyren Wilson

o 2 Mark Selby
X 3. Shaun Murphy

x 4. Ronald Antonio O'Sullivan

Question ID : 59445933062
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Q14 The Asiatic Society of Bengal was formed in 1784 by
Ans o 1 Wiliam Jones

x 2. Lord Canning
X 3. Lord Curzon
x 4. Lord Bentinck

Question ID : 59445933053

Q.15 Which among the following football teams won the Carabao Cup 2021?
Ans x 1. Tottenham

x 2.New York City

J 3. Manchester City

x 4. Arsenall

Question ID : 59445933061

Q.16 Bell Metal is an alloy which is made up of
Ans “ 1. copper and tin

X 2. copper and zinc
X 3. copper and aluminium

x 4. copper and nickel

Question ID : 59445933047

Q17 The maximum assurance benefit payable in the Employees’ Deposit Linked Insurance
Scheme (EDLI) has been enhanced to Rs. from the earlier maximum benefit of
Rs.6 lakh

Ans  of 1 7lakn

75 2.9lakh
< 3.8lakh
#5 4.10 lakh

Question ID : 59445933058

Q18 Kalbelia folk dance is associated with which of the following states?

Ans x 1. Maharashtra

J 2. Rajasthan

x 3. Kerala
X 4. Gujarat

[ Question ID : 59445933043
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Q19 At the time of its adoption, the Constitution of India contained 395 Articles and
Schedules.

Ans X1A7
Wos
X 35
K 410

Question ID : 59445933059

Q.20 The headquarters of Insurance Regulatory and Development Authority is located at
as of May 2021.

Ans X' 1 New Delhi
x 2.Chennai
X 3. Mumbai

“ 4. Hyderabad

Question ID : 59445933054

Q1 A, B and C can alone do a task in 75, 150 and 125 days respectively. A and B together work
for 30 days and leave the task incomplete. C resumes it and finishes it alone. How many
days did C take to finish it?

Ans x 1.60
o 250
75 3.80
/X 4.100

Question ID : 59445933077
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Q.2 The pie-chart shows the enrolment of students across different schools in a city for an
entrance test. The total number of students enrolled was 800. If the success rate for the
schools P, Q, R and S was 80%, 90%, 90% and 100% respectively, then how many
students were successful?

Ans  of 1708

K 2704
/X 3.706
K 4.702

Question ID : 59445933080

Q.3 Car X is 50% faster than Car Y and Car Y is 50% faster than Car Z. If Z can cover 200 kms
in 2.5 hours, then how much distance can X cover is 3.5 hours?

Ans X' 1.390kms
o 2.630kms
/X 3.525kms
75 4.540kms

Question ID : 59445933075

Q.4 A fruit seller bought 5 dozens of bananas for Rs 480 and 5 scores of bananas for Rs 800.
At what price should he sell 1 banana to earn 25% on average cost?

Ans x 1. Rs 96

X 2Rs8
o 3 Rs10
/X 4Rs84

Question ID : 59445933065
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Q.5 A profit of 25% could have been made if an item was sold for Rs 750. It was sold for a loss
of 5% instead. Find the actual selling price.

Ans X 1Rs555

o 2.Rs570

75 3.Rs585
75 4.Rs540

Question ID : 59445933068

Q.6 There are 960 people stranded in a forest for rescue. The Air force put 2 helicopters of
capacity of 48 seats and 60 seats. After doing 5 and 6 rounds respectively they were
grounded. A third helicopter having capacity of 72 seats was introduced to complete the
job. How many rounds will the third helicopter have to undertake?

Ans X1A4
X 23
X 36
W 5

Question ID : 59445933076

Q.7 The histogram shows the units sold (in ‘000s) by a company in different years. The sale

price for the 2015 was Rs 1,000 per unit. It increases by Rs 100 every year. What is the
total sales for the year 2019?

Ans  off 1.98 million
#5 2.100 million
75 3.94 milion
#< 4.96 million

Question ID : 59445933081
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Q.8 A water tank is 50 m long and 40 m wide. It can contain water up to a depth of 20 m. The
water is half-filled in the tank with 1 pipe and then the filled water was emptied to half of
the filled capacity using another pipe. Find the area of the wet surface.

Ans x 1.1900sgm
/5 2.5800sqm

of 3.2900sgm
75 4.2850sqm

Question ID : 59445933079

Q.9 A bike can cover a distance of 120 metres in 5 seconds. By how much should it increase its
speed to match the speed of a car that can cover a distance of 360 kms in 3 hours?

Ans X' 13333%
/< 2.3556%
/X 3.3667%
of 4.3889%

Question ID : 59445933074

Q10 Rs. 20000 is being charged interest at 100% per annum. If interest is compounded
annually, then what is the interest for the 3rd year?

Ans o 1Rs80000
75 2.Rs 4000
#< 3.Rs8000
75 4.Rs 40000

Question ID : 59445933072

Q.11 A cylinder of volume 1728 cu cm and radius 12 cm is melted to form a cube. Find the side of
the cube.

Ans X 1.96cm

o 212cm
/X 3.108cm
/< 4.10cm

Question ID : 59445933078
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Q.12 The bar graph shows the amounts (In Rs) invested in raw materials and the value of
finished goods for the given years. The average value of the finished goods was how much

Ans

percent greater than the average value of the raw materials in all of the years?

KX 1.4444%

of 2.3333%

75 3.25%

/X 4.3636%

Question ID : 59445933082

Q13 If 2x = 4y = 7z; then find the value of (x-y+z):(x+y-z)?

Ans

251112
K 21211
of 31117
K 474

Question ID : 59445933071

Q14 What percent of the first 100 natural numbers have the digits 1 or 5 in their unit's place?

Ans

/X 1.1818%
o 2.20%

/X 3.2020%

5 4.18%

Question ID : 59445933067
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Q15 Xtook aloan from a bank for Rs 15000 at the rate of interest which was the same as the
period of the loan. If the interest paid at the end of the period was Rs 18150, then what was
the rate of interest?

Ans X 110%
K 2.9%
o 311%
K 412%

Question ID : 59445933073

Q16 If 40% of X equals Y, then how much does Y% of 40 equal to?
Ans X' 112% of X

#5 2.20% of X
of 3.16%o0f X

#5 4.24% of X

Question ID : 59445933066

Q17 Three joggers take 120, 144 and 180 seconds respectively to complete 1 round of a park. If
they start at noon together from the same point, then at what time will they meet again at
the same point?

Ans X' 11230PM
/X 21236 PM
of 3.1212PM
K 4.12:24PM

Question ID : 59445933063

Q18 X bought 50 dozens of pens for Rs 900 and sold them in boxes of 10 for Rs 20 per box.
Find the profit percent.

Ans X' 150%
o 23333%
X 3.10%
X 4.25%

Question ID : 59445933069

Q19 The expenses of A and B are in the ratio of 9:10. If they increase their expenses by Rs
9000 each the ratio then becomes 12:13, then find the original expense of A?

Ans X 1Rs3000
/X 2.Rs 2700
o 3 Rs 27000
/5 4.Rs 30000

Question ID : 59445933070
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Q.20 If X/Y=4/5 and 5X +8Y= 240, then find the value of X?

Ans  of 116
K 212
75 3.20
X 415

Question ID : 59445933064

Section : General English

Q1 Four words are given, out of which only one word is spelt correctly. Choose the correctly
spelt word.

Ans x 1. Caparicious
J 2. Capricious
x 3. Caprocious
x 4. Capracious

Question ID : 59445933092

Q.2 Fillin the blank with the most appropriate choice.

Mr. Pierce eases his workload by having his secretary pick out the mail that is most
important and everything else to the recycling bin.

Ans J 1. relegate

X 2.recalcitrant
x 3. renegade

X 4. remiss

Question ID : 59445933087

Q.3 The sentence below has been divided into three parts. Select the part of the sentence that
has an error. If the sentence has no error, select the option ‘No Error'.

The cricket pitches in the Indian subcontinent offers more to spinners than pacers which is
why the country has seen so many great spinners over the years.

Ans x 1.is why the country has seen so many great spinners over the years.

X 2. No error

x 3. The cricket pitches in the Indian subcontinent

« 4. offers more to spinners than pacers which

Question ID : 59445933084
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Q.4 Select the word that is similar in meaning (SYNONYM) to the word given below.

Acumen
Ans f 1. Acuity

X 2. Responsibility
x 3. Complexity

75 4. Authority

Question ID : 59445933090

Q.5 Select the most appropriate meaning of the given idiom.

Devil's advocate
Ans “ 1. A person who expresses a contentious opinion in order to provoke debate or test the

strength of the opposing arguments

x 2. A visual presentation is far more descriptive than words
x 3. A very mild punishment

x 4. A false invention

Question ID : 59445933095

Q.6 Some parts of a sentence have been jumbled up, and labelled P, Q, R and S. Select the
option that gives the correct sequence in which these parts can be rearranged to form a
meaningful and grammatically correct sentence.

This is a very real,

P. wonderful camaraderie and

Q. magnificent scenery,

R. but safe, adventure with

S. truly unforgettable ancient art.

Ans X 1RQSP

W 2 Rraps
75 3.RPSQ
X 4.RSPQ

Question ID : 59445933089

Q.7 Fillin the blank with the most appropriate choice.

The lady in red had an smile which made all the men curious about her.
Ans x 1. egregious

x 2. antic

x 3. sporadic

J 4. enigmatic

Question ID : 59445933088
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Q.8 Select the most appropriate 'one word ' for the expressions given below.
The study of earthquakes and the phenomenon associated with it
Ans ¢ 1. Seismology

X 2. Speleology

x 3. Sericulture

X 4. Petrology

Question ID : 59445933096

Q.9 Select the word segment that substitutes (replaces) the bracketed word segment correctly
and completes the sentence meaningfully. Select the option 'no correction required' if the
sentence is correct as given.

The courts have given the verdict against the (accused, stating that he pays all his dues
with the accumulated interest) before 20th April 2021.

Ans X 1. accused, stated that he pays all his defaulted credit with the accumulated interest
x 2. No correction required
« 3. accused, stating that he pay all his dues with the accumulated interest

x 4. accused, stating that he pays all his defaulted credit with the accumulated interest

Question ID : 59445933085

Q.10 Select the most appropriate meaning of the given idiom.

Cast iron stomach

Ans x 1. An enjoyable day or circumstance
J 2. Someone who has no problems, complications or ill effects with eating anything
x 3. Put on special clothes to appear particularly appealing and attractive

x 4. An evasive reply, to delay doing something, especially because you do not want to do it

Question ID : 59445933094

Q.11 Select the word segment that substitutes (replaces) the bracketed word segment correctly
and completes the sentence meaningfully. Select the option 'no correction required' if the
sentence is correct as given.

The question (is not if he did it, but how.)
Ans x 1.is not if he did it, but how did he do it?

x 2.is not if he has done it, but how has he done.
J 3. No correction required

#X 4.is not if he did it, but how?

Question ID : 59445933086
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Q.12 Select the most appropriate 'one word ' for the expressions given below.

The science of dealing with the production control and the application of very low
temperatures

Ans x 1. Chromatics
75 2 Cypher
J 3. Cryogenics
x 4. Cytology

Question ID : 59445933097

Q13 Select the word that is similar in meaning (SYNONYM) to the word given below.

Prattle
Ans x 1. Rattle

X 2. Quiet
x 3. Quitter
of 4 Chatter

Question ID : 59445933091

Q14 Four words are given, out of which only one word is spelt correctly. Choose the correctly
spelt word.

Ans X 1. Tantomount
x 2. Tanamount
J 3. Tantamount

x 4. Tantmount

Question ID : 59445933093

Q15 The sentence below has been divided into three parts. Select the part of the sentence that
has an error. If the sentence has no error, select the option ‘No Error'.

My, aren't you the night owl tonight; the boy who has been dancing with the princess and
| all night.

Ans X 1. My, aren't you the night owl

x 2. No error

X 3. tonight; the boy who has been

« 4. dancing with the princess and | all night.

Question ID : 59445933083
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Comprehension:

A passage is given with 5 questions following it. Read the passage carefully and choose the best
answer to each question out of the four alternatives.

More than a million people immigrate to the United States to start new lives every year, and if
they are arriving in New York, one of the first sights that they will see is the Statue of Liberty. The
Statue of Liberty stands on Liberty Island, near Manhattan in New York. Though she is often
thought to be resident of New York, Liberty Island is actually federal property, which means that
the Statue of Liberty belongs to the whole country. The Statue of Liberty is not only the tallest
statue in America, it is also one of the most recognizable American symbols.

The Statue of Liberty is huge. From the tip of the torch to the pedestal on which she stands, she
is just over 151 feet tall. If you include the pedestal in your measurement, she stands more than
305 feet off of the ground. That’'s more than 30 basketball hoops or an entire football field. Her
waist size is 35 feet, which would make it awfully tough to find pants, and the tablet she holds is
23 feet long. Don’t worry though; she hasn’t had any trouble holding that tablet yet with her 8
foot index finger. Talk about heavy handed...

Though America financed and built the pedestal on which the Statue of Liberty stands, the
statue itself was a gift from France. In this way the complete work, much like the United States, is
a product of both American and French contributions. At one time America was ruled by the
British. The founding fathers of America chose to fight against Great Britain for the
independence of their country. France supported America by providing money, men, and
weapons of war. Had it not been for French contributions during the Revolutionary War, America
would not exist in the way that it does today; therefore, it is quite fitting that the Statue of Liberty,
which represents freedom, came to being by a joint American and French effort. On October
28th, 1886, just over one-hundred years after America declared its independence from Great
Britain, the Statue of Liberty was completed and dedicated by its designer, Frédéric Auguste
Bartholdi.

SubQuestion No : 16
Q16 According to the passage, which of the following statements is incorrect?

Ans x 1. America gained its freedom from Great Britain a century before Statue of Liberty was

completed.

X 2. The statue of Liberty is the property of the whole country.
{ 3. The statue of Liberty is the tallest statue in the world.

X 4. The Statue of Liberty represents Liberty.

Question ID : 59445933102
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Comprehension:

A passage is given with 5 questions following it. Read the passage carefully and choose the best
answer to each question out of the four alternatives.

More than a million people immigrate to the United States to start new lives every year, and if
they are arriving in New York, one of the first sights that they will see is the Statue of Liberty. The
Statue of Liberty stands on Liberty Island, near Manhattan in New York. Though she is often
thought to be resident of New York, Liberty Island is actually federal property, which means that
the Statue of Liberty belongs to the whole country. The Statue of Liberty is not only the tallest
statue in America, it is also one of the most recognizable American symbols.

The Statue of Liberty is huge. From the tip of the torch to the pedestal on which she stands, she
is just over 151 feet tall. If you include the pedestal in your measurement, she stands more than
305 feet off of the ground. That's more than 30 basketball hoops or an entire football field. Her
waist size is 35 feet, which would make it awfully tough to find pants, and the tablet she holds is
23 feet long. Don't worry though; she hasn’t had any trouble holding that tablet yet with her 8
foot index finger. Talk about heavy handed...

Though America financed and built the pedestal on which the Statue of Liberty stands, the
statue itself was a gift from France. In this way the complete work, much like the United States, is
a product of both American and French contributions. At one time America was ruled by the
British. The founding fathers of America chose to fight against Great Britain for the
independence of their country. France supported America by providing money, men, and
weapons of war. Had it not been for French contributions during the Revolutionary War, America
would not exist in the way that it does today; therefore, it is quite fitting that the Statue of Liberty,
which represents freedom, came to being by a joint American and French effort. On October
28th, 1886, just over one-hundred years after America declared its independence from Great
Britain, the Statue of Liberty was completed and dedicated by its designer, Frédéric Auguste
Bartholdi.

SubQuestion No : 17
Q17 What does Statue of Liberty represent?
Ans X' 1 Camaraderie

X 2. Strength

{ 3. Liberty

25 4. Allied nation

Question ID : 59445933103
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Comprehension:

A passage is given with 5 questions following it. Read the passage carefully and choose the best
answer to each question out of the four alternatives.

More than a million people immigrate to the United States to start new lives every year, and if
they are arriving in New York, one of the first sights that they will see is the Statue of Liberty. The
Statue of Liberty stands on Liberty Island, near Manhattan in New York. Though she is often
thought to be resident of New York, Liberty Island is actually federal property, which means that
the Statue of Liberty belongs to the whole country. The Statue of Liberty is not only the tallest
statue in America, it is also one of the most recognizable American symbols.

The Statue of Liberty is huge. From the tip of the torch to the pedestal on which she stands, she
is just over 151 feet tall. If you include the pedestal in your measurement, she stands more than
305 feet off of the ground. That's more than 30 basketball hoops or an entire football field. Her
waist size is 35 feet, which would make it awfully tough to find pants, and the tablet she holds is
23 feet long. Don’t worry though; she hasn’t had any trouble holding that tablet yet with her 8
foot index finger. Talk about heavy handed...

Though America financed and built the pedestal on which the Statue of Liberty stands, the
statue itself was a gift from France. In this way the complete work, much like the United States, is
a product of both American and French contributions. At one time America was ruled by the
British. The founding fathers of America chose to fight against Great Britain for the
independence of their country. France supported America by providing money, men, and
weapons of war. Had it not been for French contributions during the Revolutionary War, America
would not exist in the way that it does today; therefore, it is quite fitting that the Statue of Liberty,
which represents freedom, came to being by a joint American and French effort. On October
28th, 1886, just over one-hundred years after America declared its independence from Great
Britain, the Statue of Liberty was completed and dedicated by its designer, Frédéric Auguste
Bartholdi.

SubQuestion No : 18
Q.18 Which city is the closest to the Statue of Liberty in the U.S.?
Ans { 1. Manhattan

X 2. New York city
X 3. Queens

X 4. New Jersey

Question ID : 59445933099
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Comprehension:

A passage is given with 5 questions following it. Read the passage carefully and choose the best
answer to each question out of the four alternatives.

More than a million people immigrate to the United States to start new lives every year, and if
they are arriving in New York, one of the first sights that they will see is the Statue of Liberty. The
Statue of Liberty stands on Liberty Island, near Manhattan in New York. Though she is often
thought to be resident of New York, Liberty Island is actually federal property, which means that
the Statue of Liberty belongs to the whole country. The Statue of Liberty is not only the tallest
statue in America, it is also one of the most recognizable American symbols.

The Statue of Liberty is huge. From the tip of the torch to the pedestal on which she stands, she
is just over 151 feet tall. If you include the pedestal in your measurement, she stands more than
305 feet off of the ground. That's more than 30 basketball hoops or an entire football field. Her
waist size is 35 feet, which would make it awfully tough to find pants, and the tablet she holds is
23 feet long. Don’t worry though; she hasn’t had any trouble holding that tablet yet with her 8
foot index finger. Talk about heavy handed...

Though America financed and built the pedestal on which the Statue of Liberty stands, the
statue itself was a gift from France. In this way the complete work, much like the United States, is
a product of both American and French contributions. At one time America was ruled by the
British. The founding fathers of America chose to fight against Great Britain for the
independence of their country. France supported America by providing money, men, and
weapons of war. Had it not been for French contributions during the Revolutionary War, America
would not exist in the way that it does today; therefore, it is quite fitting that the Statue of Liberty,
which represents freedom, came to being by a joint American and French effort. On October
28th, 1886, just over one-hundred years after America declared its independence from Great
Britain, the Statue of Liberty was completed and dedicated by its designer, Frédéric Auguste
Bartholdi.

SubQuestion No : 19

Q.19 What is given to be the exact measurement of the height of the Statue of Liberty (including
its pedestal)?

Ans X 1279 feet

25 2,151 feet

o 3.305 feet
75 4184 feet

Question ID : 59445933100
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Comprehension:

A passage is given with 5 questions following it. Read the passage carefully and choose the best
answer to each question out of the four alternatives.

More than a million people immigrate to the United States to start new lives every year, and if
they are arriving in New York, one of the first sights that they will see is the Statue of Liberty. The
Statue of Liberty stands on Liberty Island, near Manhattan in New York. Though she is often
thought to be resident of New York, Liberty Island is actually federal property, which means that
the Statue of Liberty belongs to the whole country. The Statue of Liberty is not only the tallest
statue in America, it is also one of the most recognizable American symbols.

The Statue of Liberty is huge. From the tip of the torch to the pedestal on which she stands, she
is just over 151 feet tall. If you include the pedestal in your measurement, she stands more than
305 feet off of the ground. That's more than 30 basketball hoops or an entire football field. Her
waist size is 35 feet, which would make it awfully tough to find pants, and the tablet she holds is
23 feet long. Don’t worry though; she hasn’t had any trouble holding that tablet yet with her 8
foot index finger. Talk about heavy handed...

Though America financed and built the pedestal on which the Statue of Liberty stands, the
statue itself was a gift from France. In this way the complete work, much like the United States, is
a product of both American and French contributions. At one time America was ruled by the
British. The founding fathers of America chose to fight against Great Britain for the
independence of their country. France supported America by providing money, men, and
weapons of war. Had it not been for French contributions during the Revolutionary War, America
would not exist in the way that it does today; therefore, it is quite fitting that the Statue of Liberty,
which represents freedom, came to being by a joint American and French effort. On October
28th, 1886, just over one-hundred years after America declared its independence from Great
Britain, the Statue of Liberty was completed and dedicated by its designer, Frédéric Auguste
Bartholdi.

SubQuestion No : 20

Q.20 The Statue of Liberty was a gift from which country?

Ans

o 1 France
25 2. England
25 3.USA.
25 4 Russia

Question ID : 59445933101

Section : General Hindi

Qi

Ans

frafafE@d uy A, TR faereal & @, 39 fAerea &1 o= &2 it U 21eg 1 T8 fAsrea gl
o e
K ogm
25 3. afeR
< 4T

Question ID : 59445933109
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Q.2 fAAfafEd us d, ar el 7 @, 39 Reed o 9u9 & ot Ry 1y 9f) fAde i TS o g
faepea gt

T

Ans X' 1 gt
of 2 arrifif
75 3 Tt
K 4

Question ID : 59445933108

Q.3 fA=fafaq uw &, arR fReaal A 9, 39 fasen &1 997 R 5 AT e &1 98 e gl

ELeinif
Ans X1.Fnﬂmﬁ
f 2 st
X 3FRR
X 4.gaw

Question ID : 59445933115

Q.4 fr=faf@d us #, o fRereal 7 @, 39 frereq o1 wa= @2 St 2T 7 arerr & g &1 &t A
FaTg |
ST & gl I |
Ans X' 1 qewarach g
25 2. usaree gdam
/X 3. g gdam
143413{%1?12@—:5@:@

Question ID : 59445933112

Q.5 fAEfafad uw #, ar faereal A A, 39 e &1 Ta9 R i vafgar=h 21 1 a8l fae gl
R
Ans x 1.8

of 28R

X 3w
X 4@

Question ID : 59445933110
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Q6 fFr=fafEa uw d, ar el & |, 39 e o1 999 & <t form R g6 a9 o1 9@l e
gl

Ans X' 1 farsh 3 gl wam, 363, & e g
/X 2. frarh 3 gt <o, 383, & ST gl
2 3. frarsh 3 st s, 58, Al §
of 4 Rt A @, o, 5 | Hemar

Question ID : 59445933118

Q7 fa=fafEd s #, ¥R faereal & @, 39 fAereu &1 =0+ e St Y 7Y 2reg &1 w1 S gl |

qerdt
Ans «1.#@1’%
X 2
X 3.3
F R

Question ID : 59445933105

Q.8 fAmfafEd us d, ar el 7 |, 39 ey o1 999 & it Ry g wtnifts & aref @1 ag
faerea gl |
Teh U &1 et
Ans X' 1T a5 & 3k U6
2 2. i e Y s g
J&W%ﬁm@ﬁmﬁmﬂ
25 4 wga e ae

Question ID : 59445933117

Q9 fr=fafEd v, ar Rl d |, 39 e o1 9g+1 & ot fig 1g ggrer & o1 o1 w&l e
gl

- @ d
Ans o 1 o @
25 2. @R R
/< 3. g
/X 4. Fga = A

Question ID : 59445933116
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Q10

Ans

fAafafEa us |, ar fAereal § |, 39 faered o1 aa & 51t f3u 71Q 21eg @1 aga Eu g

o+
K 1%
X 29y
of 3T

X 4T

Question ID : 59445933111

Qi

Ans

FrafafEa v 8, ar Reeul § |, 39 Riereu o1 9g7 &R it Rw g 2reg & gfesin @ a8 Reea

Gl

wafasit
X 1 e
X 2 afe
W 3R
X 4 fR

Question ID : 59445933107

Qi2

Ans

FafafEa s, ar Rl § Q, 39 Rereu 1 9g- o it e &1 g Tt |
75 1. <hreE
o 2 e
X 3.z
K 4 garega

Question ID : 59445933106

Q13

Ans

fr=faf@d s d, ar fAereal 9, 39 faeea @1 wa= &R sit 2T 71 are & et & A &1 9@
faepea gt
gfe auf g, at wae st gt |

< 1. ool sgererer

/X 2 g wfesq e

W 3 2 s
/X 4. g afaE e

Question ID : 59445933113
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Q14 fFA=fafEd us §, aR e & @, 39 faeeu &1 a9 w2 St G Shfenr e @1 9 A 8l
Ans  of 1.7

X 2w

/X 3.3

< 4=

Question ID : 59445933114

Q15 =g reHt A T &1 a1 | RS AT T &1
Ans X' 1 daey arac gaam

75 2. e g wdm
of 5 T R
5 4. g I gaam

Question ID : 59445933104

Comprehension:

= feg 71q TTerier @l vgeRR U@ Y Ul & T SR st

37T g1 Y TS T G T &7 e o fo1g A A&a TSI 36T & | WA et # gig, & A grar o
AT Gg, SRV-SIT0T, FAGTR, ATl ST GIRT BT 207, TR 3T g e feTerg 81 &1 gy | Sfefaye @ geaw
ek gfReRIoT =TT ST T8T 81 31Tt A = TS ot wep 7o Aitg ez 81 o greft, Sie, et ovr @
¥, Hewmfeat ofik gars STersi = & forar &1 agu-smoT 3nf T W seeh g atu it mferat o Adhe,
foraTse, oRETo] quT vEuTE 3 o foraT @ #fiR Seh IR g < et & wglat § sidr mar gl

39 AT UERAT &l W Sgd 86 ddh Jifeh gkl A o foram & STt ATa @ gl s1fdies g, IRee 3R
AT &1 e Uglal # YR, TR, iR, 2R onf faRiy Ieate-a &1 I8t Y8R a1 guf fasar
SIGIE
3SR 1 IuANT &l fasggg & o g3 R 2res a1 feda s 35T & num siari & &1 81 S9!
31ef 7rg oft & fo forelY oft e @ uek A &3 & sicR & argam &Y ffY Ara Y s Fendt &1
SubQuestion No : 16

Q.16 U= @1 faeity g T & ?

Ans X 1w
5 2 anfm
X 3 ad
of 4 ot

Question ID : 59445933121
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Comprehension:
= &g 71q TTerier @l vgeRR gB Y UE & T SR st

37T G21 Y TATSHT T G T &7 TR o foIg A A&a TSI 36T & | WA et A gig, & A grar o
JUT G5, &IV-ST0T, TR, ATt SHTfE GRT BT AT, TR ST IG5 ARG 781 61 Ig A Sfufay & geam
AR GfERIUT SO ST T8T &1 ST faaT A S1ST8 ol Uep a1 Are fan &1 e greft, e, aitei a1 =
¥, Hewmfeat ofik gars STersi = & forar &1 agu-amoT 3nfé T W seeh g dt i mfert o Adhe,
foraTs, oReTo] quT TS 3 o forar 8 #fiR Sah IgaR g i et & welat § sk smar g1

319 719 UERAT &l W 9gd 8 adh Al Tgikal A o forar & St 717a © gl s1feres Twr, g ofk
edTaT g1 enegfieh Ugfal # YR, TR, iR, 2R onf ARty Ieate-ta &1 I8t Y8R a1 guf fapar
SIGIET

TSR o1 IuAT fEedta fasgg & umeT gomm ER 2ree fea et de IS & num s1ert @ a1 81 39en
31ef g oft & foh forelY oft YeR @ uek AR &3 & sicx & argam & ffa 3ra & s Fendt &1

SubQuestion No : 17
Q17 39 e & 34 ofife S |
Ans X' 1 &= gg vomeht
K 2urAgg
X 3R wr HEa
o 4 o et o ot & g A SieR

Question ID : 59445933124

Comprehension:

= fag 71q TTerier Sl vgeRR UB Y Uil & T SR st

370 27 T AT Al G T 38T A o Folg 7Sy &g T 38T & | U= hied | g, &5 Tfaa giar o1
JUT G5, &IV-TT0T, TR, Aot 3HTfE GRT BT AT, TR 31T IG5 HHAEG 781 6|1 I A Sfufay & geaw
AR GIEeRIVT ST ST 36T &1 3T FA = 2718 ot Ueh 7 At e &1 3 grefl, e, el v =i
¥, Hiewmfeat ofik gars STersi = & forar &1 egu-amoT 3nfé T W seeh g dt it mferat o Adhe,
fAraTee, TRATO] T v 3 o forar & ofik 3 SrER g ot Hiwrett & wehkal # siar s &1

319 H1q UERaT &l ®ITF 9gd 8 adh Al gkl A o fordT & St 717a © sl s1feres Twr, g ofk
ST & | STYfen UeRal # TR, THR, @R, R ofe fasiy Seoiea €1 7T Y8R a1 aui faman
SIGIE]
TSR o1 IuAT fEedia faegg & umeT gomm ER 2ree fea S de IS & uum s1ert @ a1 81 39en
31ef g oft & foh forelY oft YeR @ uek AT &3 & sicx & argam & ffa 3ra & s dendt &1
SubQuestion No : 18

Q18 ISR T ITTNT el TIRH G ?

Ans X 1 Rudfgs
X 2 v Repgg
X 8 wigg
o 4 i g

Question ID : 59445933123




www.HaryanaJobs.in

Comprehension:

I f&q TQ TTerieT ht et U@ T U o Tieh IR st

ST 21 Y HATSHT T G T 8T Fe o folg A T&a TSI 36T 8 | UTiA et  geg, & ATA grar o
TUT g, UJH-ST0T, TTIR, ATl 31 ZRT 1T T, TR ST JG & WTelg el 81 g | SierfIsyra & gea
ATfaieh gfeRioT o ST 38T &1 STt fam 3 &1eTs ot Uep T Hire fean &1 s greft, Se, ael o e
3, Hiemtedt 3R gar Stgrett A o forn §1 9y-JTT 311 Rl R sigeh g a1 el Miferdl 3R ke,
TS e, TRATY] a1 gataTE A o forar & $fR Sk SIgaR g i HArell & vgial 7 efaR Smar g1

319 H1q UERAT &l ®ITF 98 8 adh Al TgiRdl A of fordT & St 71-d 8 ol S1feres TsT, g ofk
eTdTaT, g | S Ugial # Y8R, THR, @R, 2R S iy Ievie-a & | I8T Y8R a1 guf+ fopar
SIGIE]

TSR T IuAT &g faegg # U gom| ER 2ree fea fedam de IS & nom s1ert @ a1 81 39am
37ef g oft & fon forelt oft e @ uar YT &5 & sicx & argam Y fef Ara & < Fendt 81

SubQuestion No : 19
Q19 ATE ugRal & wI ore fFe & e @ 2
Ans X A greft
X 2%e
X 3=
W 4ER

Question ID : 59445933120

Comprehension:

I feq TQ TTerieT oht Ueehe U@ 7T U o Tieh IR st

ST 21 Y HATSHT T GIAT T 8T e o folg A G&a TS 36T 8 | Ui et # geg, & A grar o
TUT g, UJH-ST0T, TR, ATl 31 ZRT EIT T, TR ST JG & WTelg el 81 g | SierfIsyra & geaw
ATfaien gfSeRIvT U ST 28T &1 STt fam 3 &1eTs ot Uep a1 Hive feam 81 sia greft, Se, atel avr e
3, Hermieat ofk gats STETSil A o forar 81 agw-aToT SN oAt T ek g atu i mfert 8k dhe,
fRraTge, RATY] qur geuTst 3 @ forar & ok S SIgaR g & Hmredt & vefal 7 efaR smar &1

319 HIG UERET &l ®ITH 98 8 adh Al TgiRdl A of fordT & St 71 8 ol 31feres ToT, FfedH ok
edTaT g | S ugial # Y8R, THR, @R, 2R oS iy Iecia-a & | agi Y8R a1 guf+ fopar
SIGIE]
TSR o1 IuA f&edta faegg # U gom ER' 2ree feal fedam de IS & nom 31ert @ a1 81 39em
37ef g oft & fon forelt oft e @ Uk YT &5 & sicx & argam Y fefa Ara &Y < Fendt 81
SubQuestion No : 20

Q.20 3HTST GZ&ls | Sl T gfRehloT STU=TAT STt & ?

Ans X 1 siufierg

K ofdm

X 3 wa
f 2 &

Question ID : 59445933122
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Q1 Select the most appropriate option.

Dependent Clause is also called

Ans X 1. Relative clause
“ 2. Subordinate clause
X 3. Coordinate clause

x 4. Noun Clause

Question ID : 59445933142

Q.2 Identify the clause in the brackets.

My friend helped me (when | was in danger.)

Ans x 1. Noun Clause
x 2. Negative Clause
#< 3. Adjective Clause

J 4. Adverb Clause

Question ID : 59445933140

Q.3 The word 'few' used in the sentence.

'l have few friends'is a determiner.

Ans X 1 Article
x 2. Possessive
J 3. Quantifier

x 4. Interrogative

Question ID : 59445933127

Q.4 Identify the type of clause in the brackets.

(Unless it rains tomorrow), | will go to school.

Ans ¢ 1. Conditional Clause
x 2.Noun Clause
X 3. Relative Clause

75 4. Adjective Clause

Question ID : 59445933141
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Q.5 Identify the type of the clause in the brackets.

Our neighbour (who moved in last year) wants to borrow the chainsaw.

Ans X' 1 Noun Clause
x 2. Adjective Clause
x 3. Adverbial Clause

« 4. Relative Clause

Question ID : 59445933144

Q.6 Select the most appropriate option.

Hindustan Times is a famous newspaper.

Ans X 1A
75 2. They
W 3 The
75 4.An

Question ID : 59445933128

Q.7 Which form of the tense is used in the sentence.

‘Last night, | read an entire novel'?

Ans X 1. Past Perfect Tense
x 2. Future Tense
“ 3. Simple Past Tense

x 4. Past Continuous Tense

Question ID : 59445933137

Q.8 Fillin the blank with most appropriate option.

Pluperfect is usually tense in English.

Ans x 1. Present Indefinite Tense
« 2. Past Perfect Tense
x 3. Future Perfect Tense

x 4. Present Perfect Tense

Question ID : 59445933134
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Q.9 Select the most appropriate option.

The past continuous tense is also known as

Ans x 1. Simple Past Tense
x 2. Past Perfect Tense
x 3. Future Tense

« 4. Past Progressive Tense

Question ID : 59445933136

Q10 